Powers Module
Lesson 2: Laws of Exponents

Mathematics 9B — Worksheet
1. Multiply each of the following. Express your answer as a single power.
a. 2324
b. (=3)?+(-3)°
c. 124127+ 12°
d. xSex2eyl
e. —7576477
f. b3« b0
9. (-5)°+ (-5
h. 62+63¢6%+6°

2. Divide each of the following. Express your answer as a single power.
a. 129+ 12°6
b. (-7)°+ (-7)3
c. al®>+alt
d. 2110+ 216
e. 45+ 44
f. —817+812
g. (216 210) + (2527

h., x4+ x8
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3. Simplify each of the following and then evaluate.

a. 213: 210 b. (-4)? e« (-4)3+ (-4)*
g5 .8 . (35 - (3)°
PR ST

62+37.6%.3%2.6% 3"
6*e3*.6%.3%.32

4. Evaluate each of the following. Use the power rules when possible.

a. 24+ 23 b, 24-23
62 + 62 54 . 52
10 d. 53 .52
e. (~d)i2 .+ (-4)tte (4y f. 20
g. —12° h. (-12)°

i. 2502518 257 2510

5. Which of the following is equal to 5?

(2 * 3)? 3+ 22 231 3222 (3 +2)2
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6. Simplify each of the following and then evaluate.

a. 415+49 .47+411+4Q

b. (=2)0« (=2)8+ (=2)°

c 6% - 6°
" 8.6

7. Fillin the boxes using only the digits 1, 2, 3, 4, 5, 6, 7, 8, 9 at most once to make the
largest value possible.

]

]

8. Here are two ways to write 24 as a product of two powers, with at least one of the
exponents greater than 1:

24 =323
24 =226

a. Find two powers that have a product of 48, with at least one exponent greater
than 1. How many different pairs of powers can you find?

b. Find two powers that have a product of 96, with at least one exponent greater
than 1. How many different pairs of powers can you find?
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Answers

1. a2
f_ bllO
2. a. 123
f. -85
3. a.8
c.64
e.3
4, a.z2
c. 10
e.—64
g.-1
i. 25
a. 36
a. 16

© N o »

b. (-3)8
. (-5)
 (=7)2

«

o oce o

h.1

b.7
b.4

c. 1216 d. x6
h. 614

c.at d. 214
h. x6

c.7 d.5
c.6

See the answer key for some possible solutions.
a.24+31=48, 2%+ 61 =48, 22+ 121 =48, 42+ 31 = 48

e. 25

b. 25+ 31 =06, 24+ 61 = 96, 23+ 121 = 96, 22+ 241 = 96, 42+ 6! = 96
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